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6. T W staiede wen faan o o v o §
(1) 14 5677
(2) 14 W]
(3) 14 A
@) 14 fedm
(5) I AL 2 A

7. W SEEa 1 fAaifaa w3z aen e o b
(1) @2 ¥ (99)

(2) WA
(3) wfaa

(4) U
(5) I AW L WA

8. 74 anfeda sEmorEn fam and faenfaa a0 0 )

(1) 2021
(2) 2018
(3) 2022
(4) 2019

(5) IO @ 2 A

o. fa=fafma o @ wm-an v @ At dfdm e B,
S 9t w90 1 wifza =ifa @ i e §
(1) v fisrd d (RB1)
(2) fasira Fan favwm (DFS)
(3) v de i wzAfnn smmas e paeifs
(NABFID)
(4)  WIEM =22 A% (SBI)
(5) I E @M Awa

10. fo=fafaa 1 3 faa 1 & ureie = wlein B 7
(1) @2 anfzm

bithe i iial Kite Festival’ is celebrated

' i, tyuiarat on which day ?

I | {1 Movember
1) | 'Y Februnary
I3 | {1 tanuary

[ | {11 Pecember

L8]] bsdd Hite rn[)f(‘(l

panchayat, what are the elected

et e ealled ?
(1) 244 Members (Panch)

" b

|4 ":""f”f‘]
|4) Ohrtetary
(1) biitiheillors

[r4) bl nﬂr-mp!cd

I1t © It d{ vear was the 7th Economic Census
rtiielil b 2

() 5t

(4 shia

(4] A"

(1) 21

|5 bl ~‘fr1-1p?(,‘(]

Wht 1l Hie of the following is India’s Central
Lttt 144 {histitution, which controls the
Il Aty policy of the Indian rupee ?

(1l Bhestie Bank of India (RBI)

(4 Hin Department of Financial Services
“1[’("'
el h'v':n‘”ﬂ’

Ll Bank for Financing

astructure and Development
(NABEID)

M &lite Bank of India (sBI)

E I ] attempted

el g

1 18 ke s )
Hhe fdd IS the ancient name of which one of

divitig state ?

(2) afwerrg ”,‘ Uiistal Odisha
2 “’ ""v\!” r.!ndu
(3) tha | (A2 7 ‘“ ‘.”“"Wf’l""(
(4) ama ) Hetipa 3
(5) W AE 2 Awa (L] I Y Hiletipteg
TNAVH/E4 20 w1 @ e 2enat  GPACE |y Hnii(‘.;,‘;;,"—"—'i- —
K age
/

G Scanned with OKEN Scanner



Join Telegram Group "gradein”

Which State/Union Territory is known as
‘Crown of India’?

(1) IHimachal Pradesh
(2) Jammu & Kashmir

(3)  Punjab
(5)  Not attempted

How many Fundamental Rights are there in
Indian Constitution ?

(5) Not attempted

‘National Rural Livelihood Mission’ has been
renamed as :

(1) Deendayal Antyodaya Yojana

(2)  Annapurna

(3) Pradhan Mantri Gram Sadak Yojana
(4) Pradhan Mantri Awaas Yojana

(5) Not attempted

Rouf Dance is a famous folk dance form of
which one of the following States ?

(1)  Uttar Pradesh

(2) Andhra Pradesh

(3) Rajasthan

4 Jammu & Kashmir
(5)  Not attempted

Who was the first Mauryan ruler who tried to
take his message to the people through
inscriptions ?

('l’j Chanakya

(2)  Chandragupta
(3)  Ashoka

(4)  Bindusara

() Not attempted

11, T T dgfaa T R FEF E Am A | 1.
off S S © 2
(1) femraa v
(2) T FVER
) S @) Delhi
(4) feesi
(5) SWFE oW =ed
14,
12. wEr sfaum A Fa fea Sfas SfEr E?
1 LS| O 1 Seven
:2: Bl SO\“ Tt\t&hﬂ :2: Nine
3) &= eq‘w (3) Three
@) = (4) Six
(5) T TE <N =ed
13. ‘STEE o aRaaee v W T AW e 13.
(1) <9 ey are
(2) g
(3) WHHEE TH HEF: ISl
(4)  WHTEHEE1 A IS
(5) S @ <N 9ed
14, % 39 fefafma d @ fFm m=m wdw-@e? | 14
(1) =W yed
(2) @ FA
(3) A
(4) = vH FVER
(5) FAAE = Aed
15. #17 9am W v 9 A afverdl & wom A | g,
AR AF AT T2 T A 7
(1) =@
(2) +ZTA
(3) @
(4) fagaw
(5) =W AR 2 AwA
TNAVH/ E4 2 w1 m fea0 zena | SPACE FOR ROUGH WORK
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16.

17.

18.

19.

20.
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hieT-1 F € 11 GE1ST &% 919 shiem-11 3 fau
FrEl F1 faers Hifau |

~

HicTH-T THIATH-T1
(@) ™ (i) T SrEi
(b)  SEEH (ii)  aroeEsH
() I (i) @ e 1 afEed
d) UNEE (W) (iv) S e
T faweq =1 937 wifau)

(1) (a)-), (b)-(1), (c)-(iii), (d)-(iv)
(2)  (@)-(), (b)-(1), (c)-(iv), (d)-(iii)
(3)  (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)
(4)  (a)-(i1), (b)-(iv), (c)-(i), (d)-(iii)
(5) W <1 =@ed

fr=fafEd 9 9 sF-91 CaEfes 2

(1) FemEEfEE

(2) 3TcHRd

(3 =

(4) Hifeaw aEFEHe
(5) SR Tl <A1 |ed

Gdied T gEiv™ IR FAra F ww=E et
4 J frds FRU A8 ?

(1) T agaedrd qad

(2) gl SAafiER wEdA

(3) VI FHI AFHSEE YA

@) vEm yFrE (e gvymE)

(5) SR TE & =ed

fretfafaa § & #9  H=Loia T 76 € 2
(1) &

2) = A (A 9=H)

(3)  Tdfe (“AT)

(4) T

(5) 3w A o Ared

(1) foum
2) FaF
(3) Wi
(4)  Sframy

(5) I G o =

16.

17;

18.

19.

20.

Match structures given in Column-] with
functiong given in Column-II.

Column-I Column-II
(a)  Stomata (i) Absorption of water
(b)  Xylem (ii) Transpiration

Transport of food
Transport of water

()  Root hairs (iii)
(d  Phloem  (iv)
Choose the correct option.

(1) (a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
2) (a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)
3) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)
4) (a)-(ii), (b)-(iv), (c)-(), (d)-(iii)
(5) Not attempted

Which of the following is an antibiotic ?
(1) Streptomycin

(2) Alcohol

(3) Yeast

(4) Sodium bicarbonate

(5) Not attempted

Advance sunrise and delayed sunset is
because of the phenomenon of :

(1) Atmospheric Refraction of light
(2) Total Internal Reflection

(3) Atmospheric Reflection of light
(4)  Scattering of light (Tyndall Effect)
(5) Not attempted

Select the non-communicable disease from
the following :

(1) Cholera

(2) Chicken pox
(3)  Tuberculosis
(4) Diabetes

(5)  Not attempted

Malaria is caused by :
(1)  Virus

(2)  Fungi

(3)  Protozoa

(1) Bacteria

(5)  Not attempted

o 1 W feru zare | SPACE FOR ROUGH WORK
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et & @ i <t A A R
(1) fe

(2) A&

(3) TEdE FEd

(@) fem dgen (w0 A9)
(5) SR E & =

95 imgsnmﬁmﬁwﬁaﬂﬁémmﬁw%?

(1) 9% e 9

@) @R (F) Fifwe § 776 T A
(3) e fuw &

@ THd

(5) W <A =ed

21.

22.

23.

24.

25.

Which one of the following does not belong !
the group ?

(1) Deer

(2) Yak

(3) Mountain goat
(4)  Snow leopard

(5) Not attempted

The dough of bread rises because of :
(1) Salting

(2)  Growth of yeast cells

(3) Fine grinding

(4) Kneading

(5) Not attempted

Identify the non-biodegradable item from the
following :

(1) Tin cans

(2) Wood
(3) Woollen clothes
(4) Paper

(5) Not attempted

Tiger is a
meat.

(1) Carnivore

(2) Omnivore

(3) Cattle

(4) Herbivore

(5) Not attempted

because it only eats

Pure gold is not suitable for making jewe]|er
It is alloyed with or
make it hard for making ornaments.

(1)  Zinc, Silver
(2) Silver, Copper

(3) Aluminium, Copper
(4)  Silver, Aluminium

(5) Not attempted

23. frefafEs § ¥ &1 H o 99 e 7@ 2
(1) % fe=a
(2) ==
(3) SAHFHIS
(4) =TS
(5) IR <A =ed
24. =M™ a1 € i T8 Fao qiE T @ |
(1) wERd
(2) HawEm
(3) weEd
()  vmETERT
(5) S T M R
25. IS A AW F F for Swe A g
aga ___ foemn smn )
(1) &=, =&
(2) ==, 9
(3)  UefEfEm, At
(4) 0, Tefufm
(5) I T & Awa
TNAVH / E4
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26.

27.

28.

29,

—
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ﬁwi‘?ffaﬁﬁqﬂfaaaﬁ

1(aEH) 11 ( wared )
(@ () T
B e () v
© TegEm. T Nii) wmE
@  frem (iv) =
el fasey &1 937 Fifeu |

(1) (a)-(1), (b)-(iii), (c)-(i), (d)-(iv)
(2)  (@)-(ii), (b)-(iv), (c)-(i), (d)-(ii)
(3)  (a)-(v), (b)-(ii), (e)-(iii), (d)-(i)
(4 (a)-(ii), (b)-(i), (c)-(iv), (d)-(ii)
(5) SR < A é-')((\ﬂq-\f

W IR FHA T IR Bl W4, fo Fo v §)

frefafaa 5 3 fa it & i ema £2
(1) 34

(2) @

(3) AT o

(4) SR

(5) ST A oAl AmEd

w4 fordt fosm | S 78 vad WehreT TSRl © a1 U
ey feart Ta £ frg O F yew A waitus

G BT € ?
(1) = drem
(2) Fren
(3) G
(4)  «mE

(5) I T Aed

T H
FH Ty ¥ fawg wgd/@ed <
(1) wreeres

R

@) o R

() ferrenfan
(4)  vaq w=a FiorwTd

(5) =W e < = ed

éﬁ/éﬁ?%ﬁﬁ%ﬂﬁ?ﬁ'{ﬁm

26.

27.

28.

29.

Match the following :

(a)
(b)
(c)
(d)

I (Objects) IT (Materials)
Shoes (1) Paper

Table (i1) Steel
Notebook (iii) Leather
Tumbler (iv) Wood

Choose the correct option.

(1)
@
)
(4)
()

(a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)
(a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
(a)-(iv), (b)-(ii), (c)-(ii), (d)-(i)
(a)-(iii), (b)-(i), (c)-(iv), (d)-(i})
Not attempted

Short plants with green and tender stem
having few branches belong to the category

of :

(1y

)
(3)
(4)
(5)

Trees
Shrubs -

. Climber’s

Herbs

Not attempted

When a white light passes through a prism, a
spectrum is observed. Which colour of light
bends most ?

(1)
(2)
)
(4)
()

The blood has

Yellow

Blue

Violet

Red

Not attempted

A

which fight against

germs that may enter our body.

(1)
(2)
(3)
(4)
(5)

Platelets

Red blood Carpuscles
Haemoglobin

White blood Carpuscles

Not attempted

o o o ferw <arret | SPACE FOR ROUGH WORK
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30, i s e @ e € A 3 Q

31.

oY FerersTFCn ST © 7
(1) Fad st

2) et 3iR st A
(3) Had dd

@4) Faa A

(5) SRRl & Aed

Wgoﬁaﬁﬁmmgl T [ T
60 Hiex T Tfem F1 3R Fe & | THF 91 7w
TEH 40 TR @@ ¥ e AW AX0F fag 3§
foreat g2 aun form fem H &2
(1) 40 iR, IW-9f=m
(2 50 T, IW-gd
(3) 60 HieE, I&

(4) 30 He, IH Ae
(5) IWAGMERT [de > Lo

For the process of rusting of Iron, the presence
of which is required ?

(1)  Oxygen only

@) Water and Oxygen both
(3) Oilonly

(4) Water only

(5) Not attempted

Kunal walks 90 metres towards East. From
there he walks 60 metres back towards West.
Then he turns right and walks 40 metres,
How far and in which direction is he from his
starting point ?

(1) 40 metres, North-West
(2) 50 metres, North-East
(3) 60 metres, East

(4) 30 metres, North

(3) Not attempted

A set of English letters is given below in a
jumbled order.

32. 4 s swerl 5 TR A srorafeen w79 e B s s it k. ebiters: Brmanged
¥ Hend F 39 AW & 991 H foEd HATIR accordingly will form a meaningful word.
el 1 AT FH W UG A4Y0f 978 a1 | E L P 1 o C
E L P I 0o C 1 2 3 4 5 6
1 2 3 4 5 6 (1) 3,52,4,6,1 PolL\|CE
(1) 3,524,6,1 @ 3,52641 PolLcTE
8,: gl @ 3,45261 PTolLCE

’ » ) ’ y
A 816486 4 21,5436 LToT®PC
o 5 5 (5) Not attempted

(5) W el < Awd

33. @AM ’mﬁwvamafm| Find the missing term in the series.
4,27,16,125,36, 2 64,729 4,27, 16, 125,36, _2 , 64,729
(1) 216 (1) 216 47 3, u* 55 (52
(2) 343 Ly 343
(3) 512 (3) 512
@ 121 @ 121
(5) ST < T (5) Not attempted

TNAVH/ E4 ¥ Tw oM oo e/ SPACE FOR ROUGH WORK Page'

(¥ Scanned with OKEN Scanner



34.

35.

36.
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e FAfed FE H PHYSICS’ 1 RIAUKEY:
fo S €, A BIOLOGY’ =1 ST Tz & &

ferzan ST ?

(1) DKQNQIA
(2) DKQOQJA
(3) DKQPQJB
(4) DKQMQIB

A,B,C,D,EHWFWﬁﬁﬂﬁgmwﬁﬁﬁﬁ
@2 ¥, e sawas® T & o s/ w4 2 g i
‘F’nwﬁ%ﬁT‘A’ﬁh‘B’ﬁﬂﬁW%l T, KH
G aE AT T B F I W SR A w27

() D
2 €
3 E
@ F
(5) 3™ Tl < =Ted

oA R IHF A fFwrd 1 s feuu ¥ faw
T FYHI I Ged FAd gU AR d FEA T a4 3
fi @ F 7 wdta eid =, FvE w= fF = 33
fored U T oAl o STHR W ashETa F9 | freerd

/e € 2
F: PO FATAEC
F9 A A & |
frad: 1 @t TEE EA R
I $9 A el
(1) Faa freed 11 fsora €1
() frewd 1 aiw 21 FFed €
(3) A fed 1 3w @ 11 e €
(4) Faa frowd 1 fekaa 81
(5) WA & W
37. fqum %1 99w Fifsw)
(1)  wem
2) ™
6 g
(4) e
©) W < =
TNAVH £q

G

34,

35.

36.

37.

ln.a certain code language ‘PHYSICS' i
Written a5 ‘RJAUKEU’. How will ‘BIOLOGY' be
Written ; at code ?
i n)’n th’:A P\—\\,'S| C <
: DKQNQ 6 1119 311 (0N
(3) DKQOQUA ASAL KEUL /
:4; DKQPQJB 1§ 1oL 1 W S 21
DKQMQIB
a 1< 1 \$ 1 1S

(5)  Not attempted e =

DKONOTIA
A,B,C,D,EandF are standing in a row facing
North not necessarily in the same order. ‘E’
and F’ are in the centre, and ‘A’and B’ are at
the ends. ‘C’ is standing on the immediate
left of ‘A’. Who is standing on the immediate
rightof B? & = cf
w p B EBEFC
2 C g p FE c*A
3) E :
@) F
(5) Not attempted
Two statements are given, followed by two

conclusions I and II. Assuming the
statements to be true even if they seem to be
at variance from the commonly known facts,
decide which of the conclusions logically
follows/follow from the given statements ?

Statements : Some flowers are roses.
Some roses are red.

Conclusions : L All roses are flowers.
II. Some flowers are red.

Only conclusion II follows.

(1)

(2) Both conclusions I and II follow.
(3) Neither conclusion I nor II follows.
(4) Only conclusion I follows.

(5) Not attempted

Find the odd one out.

(1) Pen

(2) Eraser

(3) Book

(4) Pencil

(5)  Not attempted

——— TR AL SPACE FOR ROUGH WORK
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R,SART ) p | 38, PLQ R, ‘S'and T are five persons of a fam;),
‘P’ and ‘R’ are brothers. ‘T’ is uncle of ‘)’ «
is the son of T". ‘Q’is the sister of ‘R’. How ;.

38. U yfan #§ ymwee P 0

; ey EAE/ATIR )OS
iR R wE-wE R T, QR T l

Rl e £ Q, R RAawa el P A f wwn P related to 'S’ ?
Hafa®? (1)  Father
(1) fe@ Y Cousin
(2) HE/ERQ MR (3)  Uncle
(3) ==/ (4)  Brother
el (4) "y (50 Not attempted

(5) I TE T Ted
39. |If every second, fourth Saturdays and aj

30. = faar & wRy o o e 30 &7 & wdiA Sundays are holidays in a 30 days month
‘q:qa;gq{ gﬁg}mapngsﬁmaﬁm-@ beginning on Sunday, then how man,
< .: G a 7 i i ?
33 e § e wfEa 2 \\lorkn;gl Zays are there in that month

ays
1) 21fw :2) i y
’ a
@) 24f= . (3; o R
ays
3) 22fw ¥
4) 23f= 27 ZDdam
4 : (5) Not attempted

(5) =9 T <A1 9ed

40. Choose the pair of words in which the words

40. 3R Y=-TTH F1 994 F4 faay YHR Geft ,
< ™ ™ e St o are related in the same way as in the given

¥R fa feum Y=-THH §| pair of words.

Hfaarfea . wfaarfea / Bachelor : Spinster
(1) =2 = ' ‘ ¢  Horse : Mare

(2) HZafE : Teq “ (2) Nun : Sister

(3) =u-foers . forus (3) Tutor : Teacher
(4) Hfeen : @ (4) Lady:Woman
(5) = FE = 9w (5)  Not attempted

41. TR UF P AR 4,700 Y @i sir zad | 41, Harish bought an old Scooter for ¥ 4,700 and

W..?.i?()(.) LR CT TR Ty H s‘pcnl R §00 on its repairs. If he sells the
; 5,600 H 79 A T 7 gy . Scooter for? 5,800, his gain percent is :
oo Y \PO
() 5% s¢ Sl T
’ ‘), °
(2)  10% 6/“' (2)  10%
3)  12% o4 (3)  12%
4 : Y ™ '
(]
(4) ” 7 l‘” ‘| 7 Yo
(5) (5)  Notattempted
—
R4
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42. @ T H, W w HEn s e a) iy 0| 4

) " _ I (| (he tatio ol the number of boys to
4: 5 @l CERIG l:l 94 .I(N\ e u.ut_ ERUEET N Wy of prels is 4 05, When 100 girls
e A 6 7 B W T AN faay o o fei g | (ool the ratio becomes 6 ¢ 7. How
(1) 150Q ' Wi | [here in the school ?
2) 1200 (o u's
(3) 1000 ] I YTy LA )) — leo
Q ez '—0
(4) 1800 W n . / o
(5) ST TE T Twd T L0,
¢ >

v~

() fyf ol mpted
43, & 374 &1 SAHA 460 T ), § A g o
I CARC L ek 9 15% st ? GIRETS i 0 e al) | 49, 1 e of a rec tangle is 460 sq.m. If the

< . R eviphff )i jo% more tlm.n the breadth, then
9T il apiong the following is the breadth of

(1)- 26 ¥ Hir g fstfisle 2

(2) 34.5¥A Il 36 melres
: AN\ ) 38 metres

(3) 209X (\ (4 {9 metres

, ) 2
@ 15X Q} 13) 4 metres
(5) IR < AW ) |9 petres
(4 b atlempted
44. vF T UE FE & 15 @ 0 gn s g b o

il it P ox il : 44, A it 90 do a job in 15 days. His father
o 301 7 1 90 FA 1 20 7 @aa § el s {iln -t days and his son finishes it in

T3 25 fA | T FT AFdl Bl e e How long will they take to complete
F A, T A FN G TG e e o i il 1) Hhiey all work together ?
(1) 9iefa (1) +odetly 6 days

(2) =M 6.4 f2a (A Hppiesimately 6.4 days

(3) 7fz
4) ofmasy
(5) =W 7@ 291 5ea

(1) f s
(1) fee fhan 6 days

() Ml dlempted

K|

. ao | Al 1o AT V1089 = X7+ 141, then the

8. ”f’-)a/r,:).7-: J10#0 = x* 4 141 B, @ al i A 32 _n 1

WF{R; ".51

0 sy o MRer o v Iy

5V5 - A

2) 25 ) ' -

6 B o L (6= DA M

(4) ]25 “' § 44 . \ \\\

(5 e o R I fph e mpted -

)z A e st e T AL W12
W =Tonrs gettet | DIAU) R LR B — Page 11
/E4 awrel a feanr eena >
o | e X

-3 -

|
v 'y
& R
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46. FFi4,0,3, 7.8 7 T 4-3F T a8 5 | 46, The greatest 4-digit nndigh'c sr‘m(l)llc_?t;l-rh;,

' A S =R e  F (TF 3T e = numbers formed by the digits 4, Vs 9, 7 (eqq 50. |
ﬁa_?_m SIS S 52 T UE A digit used only once) are respectively : ,
TMEME) : !

(1) 3740, 3047
(1)  3740.3047 04
403, 3704
“(2)  7403,3704 a3 ¥
(3) 7430, 3047 (%) 7430, 3047
(4) 4370, 4307 R S
5) W = 5 (5) Not attempted
. o . 47. The speeds of three cars are in the ra:
47. mmaﬂwﬁtm HIMA2:3: 4% WHH g 2:3:4. The ratio between the time taken:
%{q j, ﬁmmmmmn qum‘tﬁ'rn . these cars to cover the same distance is :
(1) 4:352 ) 4:3:2 17_—‘ %‘G
2) 4:3:6 2" 4:3:6 7
51.
3 6:4:3 A 6:4:3 ¢ 1 ;
4) 2:3:4 4 2:3:4
(5) I < =Ed (5) Not attempted
48. 3Ie=FE ufw 10 a4 H A A, DGR S | 48. Ifa sum becomes its double in 10 years, the
FAMMF L the annual rate of simple interest is -
o (1) 5% v
(1) 5% A lp e
2) 10% L1 10%
(3) 20% B)  20%
(4) 8% 4 8%
(5) = T = A (5) Not attempted
52.
49. 50 TS A AHA 38 71 Afz & e 45 qen | 49+ The average of 50 numbers is 38, 1t
55 1 721 291 A A A a9 HEn i 9 s ] e ?: and 55 are excluded, then v!
& N € averag o L
AL numbers ? g¢ of the remain
. (1) . 37 (1) 37
(B e 42) 375
(3) 37.52 (3)  37.52
(4) 365 (1) 365
(5) I TEl A A (5)  Not attempted o
2 , TNAV
—~VH/E4 ¥ w1 & feo = :
TNAVH/E4 fere zermr / SPACE FOR ROUGH WORK Pag"
&= 36+~ \qe0
s u__ QAeo \800 ;E,E b 1Y
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/s

50. A 3 7 63,000 T T U SR 3N faam T |(50.) A Started n business with T 63,000 and is

g e < 1,08,000 T A B #R A A
Fx o afe ad & ofd W oy SE-"ua 2 8, )

foFdd TG & 9% B 3 WEER # 2

' (1)
(1y 4
@ 5 (2)
(3) © (3)
4 3 (4)
(5) ST el <1 (5)

1

5

3

.i(\ill(‘(l ”“(\'“'“!(‘53 I’\' '; \\'i'll z I,‘)";'()(){) /\“p[
how many months did B join if the profits at
the end of the year are divided equally ?

63 ooo L1, et

Not at(cm@c;l_

—

51 a7 fafs= &3 F1 L.C.M. 120 B = gemnsii 51. The L.C.M. of three different numbers is 120.

§ ¥ 9 91 9811 31 dH e F H.C.F. 7d a1

T ?
(1) 12
@ 24
(3) 35
@ 8
(5)

H.C.F.?
(1) 12
(2) 24
2 35
@4 8
(5)

Which of the following cannot be their

Not attempted

52. 7 28.80 WA frm. I 3 T 22.80 ufd fF.m. A 52. In what ratio, rice at ¥ 28.80 per kg and rice

T g wrqam | foems smd arfew fagon g
% 25.20 ¥fa f&.mn. 71 =m0 ?

at ¥ 22.80 per kg be mixed to get a mixture
worth ¥ 25.20 per kg ?

1y 2:3 N .
2) 3:4 1§20
(20 3:4 prolen
@) 5:3 % BB 3-bo 2 ke
4 1:3 (4) 1:3
(5) = =@ @ A (5)  Not attempted
vam w6 w1 @ fero zenet / SPACE FOR ROUGH WORK NR-§© Pa '13/0
b - Sk
Koy Mot
' e e TR 1
& 3
¥ Lt
}‘* } [~ e
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— ) BT 50% ‘bHE: 63. If10%of (a+b)=50% of (a—Db), thena:bisg-
53. R (a+b) @ 10% =(a =P JMa:bd: f (@ +b)=5 (a=Db), & i
i Eay M52 qzi'b“/\\E_ = a-b *;%Z
@2 2:3 ) 2:3 =
-q-4tb= X
3 3:2 3 3:2 a’\b}b <
'2,
(4) 132 (4) 1:2 o= _’S;:
¥ 2=
(5) SWTES e (5)  Not attempted -
54. ¥ 8,000 % T 10% T TG A R | (0L ill £ 8,000
i 3 . W many years will a sum o s at
E‘Tﬁ‘ﬁ\ 0,261 B ST, i =TSt Wi T Hafera 10% per annum compound interest,
T E? compounded semi-annually become 29,261 ?
1 1
m 1y g 15 years
§ooo Co\
! bl o
= 1 9 e
@ 23 =4 2) 27 years o4 ‘
’ 2
5 21 o ) ] W)
2 @) 2 years y M
1 by
(4) ]5 T4 i 1 1 /8/83_-__.
(4) 3 vears 72 )
(5) Not attempted
§5. MR N 3 A1 qur I 5 A, At g ¥
7771 o ) foreme 55. A solid metallic cylinder of base radius 3 cm
St 1 A, 7o e W o, fSrd yeen it and height 5 cm is melted to form cones. each
ST A o 1 o, # 79 YFR of height 1 cm and base radius 1 mm. The
a9 vr?m F1HE number of such cones is :
(1) 1350 (1) 1350
(2) 4500 (2) 4500
(3) 13500 (3 13500
(4) 450
(4) 450
(5) AR 2 g
(5)  Not attempted

H/E4 o
TNAV ¥ @1 @ feru verrer  SPACE FOR ROUGH WORK Page 14
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Select the alternative which best describeg

56- the underlined idiomatic expression.
you may rush from pillar to post, but you
stand no chance of getting what you ;"ant
without hard work.
(1) rush in all directions and suffer mych
harassment
(2)  go toall post boxes and post offices
@ eo to many offices and post letters
(4) be very busy
(5) Not attempted
57. Choose the correct alternative to improve the
underlined part o'f the following sentence. If
no improvement is required, your answer is
(3).
You will face many defeats in life but never
let themselves be defeated .
(1)  yourself be defeated
(2) yourself be defeating
(3) No improvement
(4) themself defeated
(S)  Not attempted
S8. Fill in the blank with correct form of Verb.
Time and tide for none.
() waited
) waits
B)  waiting
4 wait
(5)  Not attempted
TNAVHEq

59,

60.

61.

Pick Out the correctly spelt word.
U) l(:mpcstuous

(2) tempastuous

(3) tempestus

(4) tampestuous

(5)  Not attempted

Pick out the antonym of the underlined word
In the following sentence.

He was afraid of losing the match.

(1) nervous
(2) shaken
(3) confident
(4) hesitant

(5) Not attempted

Pick out the part of the sentence which has

an error. If there is no error, your answer is
(3)-

The property / was divided V4

(A) (B)
among the two brothers
(C)
(1) ®)
(2 (©)

(3) No error
(4) (A

(5) Not attempted

< 1 b feTe TATe / SPACE FOR ROUGH WORK
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- '—_7.- i T

............

oiv"f v
Choose the al‘emm;...- direCt speech
the given sentenc® ™

He told the boy not to sit tOTe

(1) He saidto the boy, "Don 1 s thers *
(2) He said to the bov, “Didnt snt thew
(3) Hesaidto the bov, “Dom s hers

(4) He said to the boy, Do = heew -

(5) Not attempted

Choose the correct passive voics form o =p-

following sentence.
He was writing a book.
(1) A book was being wrimen o
(2)  He has written z boyoi-
(3) A book was being wrimen

13 A book is written by fim

(5) Not attempted

g

Rearrange the following parts of a seny,,
labelled as PQRS to make a meaningy,
entence.

P - optimism is cssentiz}l

Q - it is also the

R - foundation of_true progress
S - to achifvement and

(1)~ PQRS

[2) PSQR

RQSP

{4) OQSRP

{5) Not attempted

Find out the synonym of ‘proclaim’.
(1)  advance

[2)  declare

{3) license

(#)  progress

{5)  Not attempted

TNAVH/E4

TETT = T =me =PACEFOR ROUGH WORK

Page !
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66- ) 1S 4 o er T 2" AT T B
2 4 ST P
@ "™ ()
w T . Q) iy e
(5) I T < @) i Fww H
: . () I T =wed
g - 72. 'Hi g arta ¥ fou TaEiEE STIHE T v= ©
) iq@ (1) W=
oy . 2)  arm
i) bl :3; fama
t g (4) fvma
(5) IR & < Ted . .
(5) I T 2 A
‘ ' 5 60“2
o ?Wa:lﬁ@wm% 73. ‘¥ werg A T3 ATl GAE I U= E -
o 0 e
@ @ (2) =fF=
@ < @) T
oA
(5) IR AE < wed 2

(5) ST T &A1 Amed

69. 'S F SN SrTe &M Tiig @1 fag! | AR H ’ -
'Ieer®’ W= 1 HANHUE 39 TAIAHE T 7

Tt e @19 © 74. ’
(1) e o1 TUR ST HH T UEE, R (v =
T (2)

2) mﬁaﬁaﬁaﬁt%aﬁtg‘(aﬁmﬁm 3) ®

4) ST 37T ST & aTE B e B e € | (5) I TE & e

B o s | 75, feu T T F e fawen # fam @ w5 waitE
(Y —————cE e R S WA g & 2

\T@mmmﬁwﬁ”‘wi: (1) TAFEE AR A

(1)  wen3wd (?) gﬂ‘l,ﬁﬁﬁaﬁﬁuﬁ&nqﬁ?{ml

() T+EHE (3) H 39 W 7@ e Tl s ?

(3) we+aiad 4 FAWAWRGI

@ NI (5) I A & AR
% ST < ch FOR ROUGH WORK Page 17
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e & fr fore) 1 faerar S feorg &2

76.
(1) 3PN
(2) gHMTA
(3) Uga®w
(4)  FrA )
(5) IR o Awd
77. e T § faa () TH Y9 § )
(1) 5500 - 6000
(2) 6000 - 6500
(3) 6500 F FfHF
(4) 5000 - 5500
(5) S TE < =wed
78. wfamn ¥ feg ad ' <AaEy A0 I 557 g
IE T T 912
(1) 2017-18
(2) 2011-12
(3) 2019-20
(4) 2015-16
(5) S E < ARa
79. {99 W R faured wReass Sueem from 22
(1) 7=
(2) FEEm
(3) =
(4) @
(5) SWAH T 9w
80. @ ¥ ¥ W T FWA Ao an § wEw
fafasfiso eir st wem = oa 26 32
(1) &0 9 &9 o
(2) v« wifFa e
(3)°  9UM T FEE A
(4) vfd 92 fu=s wuq
(5) I TE A ==
81. zm 4 fofd @ qen Fratem drg )
(1) 10
2) 11
3) 12
4 9
(5) I Tl <1 Hed
TNAVH/E4

76.

¢ 4

78.

79.

80.

81.

In which district of Haryvana is Tilvar Lak,
located ?

(1) Ambala

(2) Panipat

(3} Rohtak

(4)  Kaithal

(5) Not attempted

How many (approximately) Village Panchavats
does Haryana State have ?

(1) 5500 -6000

(2) 6000 -6500

(3) more than 6500

(4) 5000 - 5500

(5) Not attempted

In which year was “Deenbandhu Harvana
Gram Uday Yojana” launched in Harvana ?
(1) 2017-18

(2) 2011-12
(3) 2019-20
(4) 2015-16

(5)  Not attempted

Where is the Heritage Transport Museum
situated ?

41)  Gurugram

(2) Kurukshetra
(3) Karnal

(4) Rewari

(5)  Not attempted

Which scheme launched recentlv focusses on
crop diversification and water con servation in
Haryana ?

(1)  Mera Pani Meri Virasat

(2)  Jal Shakti Abhivan

(3) Pradhan Mantri Samman Yojana

(49  Per Drop More Crop

(5) Not attempted

How many Lok Sabha constituencies are there
in Harvana ?

¢) 10
2 11
3 12
@ 9

(5)  Not attempted

T BT 3 feaw 7emer / SPACE FOR ROUGH WORK
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& TR T b Where g Chor Gumbad situated ?
(1) w 0 s Chor Gt
2) LI (): Gurugram
- EI " Faridabad
@) 3 Narnaul
(4) qeTdc (4) Palwal
(5) 3?1'{1%"‘!‘32711 albé (5) Not attempted
gﬁ‘mﬂll ¢ g i m‘ 83. Where ig s .t important Centre of
H i, 5 % °re is tl most 1mj
83- z e 5l Y &3 g ‘(lurric:’:m.;:i,m located in the State of
fed €7 el
g T J1) Panipat
' (2)  Sirsa
2 fa=
(3) faar (3)  Bhiwani
arrTa (4)  Sonipat
i (5) Not attempted
= ~ pte
(5) SR <A1 Aled
84. Correctly match the Admil.'list_rati\"e Divisions
84. ﬁiﬂ -19 ﬁq T YITEAE F9m F W - II'H 1;;) t};ﬁ I;is;l- I with the Districts included in
mm" = w‘ s e List - 11.
o l List -1 List - II
-1 e -1 (a) Faridabad, (i)  Panipat
(a) FIRTEE (1) RIEI (b) Gurugray(ii) Charkhi Dadri
(b) TEIH (ii) =l gl (c) Rohtak — “ (i) Mahendragarh
L v Nut
(c) TEdH (iii) Te=ETS (d Karnal iv) u'1 B
FET (iv) :E Select the correct answer using the code
d & given below :
=3 faw T e 1 ST F TG IR G0 (1) (a)-Gi), (b)-(iv), (©)-(i), (@)-(i
(1) (a)-(ii), (b)-(iv), (c)-(0), (d)-(ii) 2) (a)-(iv), (b)-(iii), (c)-(ii), (dm;
) (a)-(iv), (b)-(ii), (c)-(ii), (d)-() @) (a)-(iii), (b)-(iv), (c)-(ii), (cu-n')
@) (a)-(iii), (b)-(iv), (c)-(i), (d)-() @) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(4)  (a)-(iv), (b)-(iii), (c)-(1), (d)-(ii) (5) Not attempted
(5) SRl o =med
85. The reorganisation of Punjab that established
: s efamn af Harvana as a full-fledged State, took place in
8. W W' i Tﬁ T which year ?
i fefen, fef o g ? (1) 1962
(1) 1962 (2) 1965
(2) 1965 (3) 1966
(3) 1966 (4) 1961
@) 1961 (5) Not attempted
ﬁm‘m <1 =red Wﬁ!ﬁa‘mzm/spACE FOR ROUGH WORK Page 19
/E4

(¥ Scanned with OKEN Scanner



Join Telegram Group "gradein”

86. Tftamom wfa ad il e W” el 7 | 86. Where in Harvana ‘Geeta Jayanti Mahotsa:
ST g ? is celebrated every year ?
(1) gEiFve (1) Surajkund
(2) fosix (2) Pinjore
(3) Yol (3) Sultanpur
@) FEEA () Kurukshetra
(5) SR & =wed (5) Not attempted
87. Ty eftamon @1 Jadiat S EEA = T4wfg % | 87. Whois known as the Shakespeare of Haryana
FOH SAISAE ? and Suryakavi of Haryana ?
(1) vfed @A (1) Pt. Mangeram
(2) aviema (2) Banshilal
(3) TWEE =™ (3) Ramsingh Nai
(4) T wE a9 (40 Dada Lakhmi Chand
(5) I Tl < 9ed (5) Not attempted
88. EfN &1 Tg qefi FNT? 88. Which is the State Bird of Haryana ?
(1) w9 (3 erfae) (1)  Great Hornbill
(2) YRAg a8 (2) Indian Bustard
(3) feurert 9ra (3) Himalayvan Monal
(4) v Heifer (4)  Black Francolin
(5) SWAE < =@ed (5) Not attempted
89. U HiHl Yo, AYIe] Y 3R W9F g7 vt | 89. Where is the National Academy of Customn,
el fera e 2 Indirect Taxes and Narcotics located ?
(1) Teaw (1) Rohtak
2) femw (2) Hissar
(3) @R (3) Faridabad
4) dEFe (4) Panchkula
(5) I T oA =R (3) Not attempted
90. ef@mn & TEITHF S STt &L ST € ? 90. Which is the most populous city of Harvana ?
(1) TEH (1) Gurugram
(2) HITER (2) Faridabad
(3) gFdl (3) Panchkula
4) Teaw (4) Rohtak
(5) SW el <1 =TRd (5) Not attempted
TNAVH/E4 % P9  ferw 2arre / SPACE FOR ROUGH WORK Page 20
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Tt e B # e .
91. <t o el 1 | 91. Mata Mansa pevi temple is home to which
FIAH EE 7 form of contemporary art of Harvana ?

(1) @l el B Worli Art
(2) fufafad (2)  Bhiti Chitra
(3) @ :i’ Dhokra
e ) Pattachitra
(4) (5) No
: A t attempted
(5) IR T & e e
92. ﬁﬂﬁf@'ﬁmmwiﬁ'ﬁq 92. Consider the following statemenFs :
(@ eremn # gfed I 1 ¥ afwm amm (2) A Police Range in Haryana is headed by
= Py S G G an officer not below the rank of
i '?W qam ‘ el el Additional Director General.
(b) gﬁwmnnmagmﬁi’-l () There are five Police Ranges in
Sy § A FA A/ A TR EY/E? Haryana. .
(1) #ad (b) :::z:tgf the above statement/s is/are
(2) (a)\aﬂz (b)~ bl . (1) (b)-onlv
(3) -:Hﬂ (a) ST (b) (2) Both (a) and (b)
(4) Had (a) ) (3) Neither (a) nor (b)
(5) Sl < e (4)  (a)only
. = g (5) Not attempted
03. SHEEn i gfe J TfEmwn &1 vra ¥ F:H-1 =M
7 93. In terms of population size, Haryana comes
(1) 17 at what rank in India ?
2) 18 Y 17
(3) 19 2) 18
4) 16 3 19
(5) SR < AR @ 16
94, Frefafad § ¥ efamon & #Fa faen Toam F (5) Not attempted
= FEe?
e -Fﬁma i & 94. Which one of the following districts of Haryana
(1) does not share border with Rajasthan ?
(2) fuar (4 Rohtak
(3) TR (2) Bhiwani
4 fomn (3) Mahendragarh
(5) SO AR < ed (4) Sirsa
. - (5) Not attempted
95. T e 3 T T ¥ 3R T v e % A el
F TRl LCIECRED 3R 1857 g e & 9y g3 | 95. Where did Rao Tularam, along with Rao Gopal
2 Dev and Rao Dhan Singh organise the Ahirs
and fought.against the British in 1857 ?
(1) =
(1) Ambala
@ Wﬁ (2) Jhajjar
) (3) Rohtak
(4) TEER fEmen ‘;1) Nasibpur fort
(5) S =R (5) Not attempted
TNAVH/ E4 <% @7l 3 fero TaTe / SPACE FOR ROUGH WORK Page 21
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el T HLe] SR (Gﬁ@ﬁ‘ﬂ)%ﬁaﬁﬂfmfm

g YT —— T

06. 96. Consider the fnll()wil;;'. S::(l(‘,f‘é?;‘;:)‘f; about Grogg
3 : 3 stic Product (L .
mwmaﬁm : . State Domestic AT S
(@) e St T % S § g (@) :,'f,l,)i.':, ,”r Haane o
g : () GSDP of Haryana is less than that of
(b) el & SiCER] T % S ) Rajasthan. _
‘cﬁﬂ'{?l ) Which of the above statement/s is/are
frefafaa § ¥ ST/ T @/ correct ?
1)  (b)only
(1) FaE@®) (
@ (@3RN (2) Both (a)and (b)
= “’éh SRAE (1) (3)  Neither (a) nor (b)
(3) Fd(a) 1 ( () (a) only
(4) mqgf‘)ém (5) Notattempted
(5) I T8 alﬁa ) )
) " . . ; iving steam Loco Shed in India
Q7. WG E UF W WiHa O e IS FEl s@feerq § 2 s thno.nb surviving s
(1) SR (1) Ambala
(2) FFE (2)  Sonipat
@) @& (3) Rewari
(4) S (4) Panipat
(5) ST TE TR ' (5) Not attempted
o8. fr=fafea § | ef@mn =1 %= f9en g sw & | 98. Which one of the following is the
fem 2 northernmost district of Haryana ?
1 g () Panchkula
(2) < (2) Kurukshetra
2] oA (3) Kaithal
3) FuE (4) Yamunanagar
(4) FHTAR (5) Not attempted
(5) Tl <1 = ed
99. o SR : 99. Consider the following stat’cmems“: 4
g I\" A (a) Haryana has never won Ranji Trophy.
(a) wfmE™m a Tl ?N‘ﬁ E‘lﬁ:{ﬁ Siteft | (b) Haryana has won Irani Trophy once.
(b)  EEN I UwEAR T 2R St ) . Which of the above statement/s is/are
T A A A TG e/ ? correct ?
(1) %94 (b) (4 (b)only
o3 Y (2) Both (a)and (b)
g: g‘%ﬁ")"gﬂ’?ﬂ . (3) . Neither (a) nor (b)
bl K ‘ (4)  (a) only
(4) %99 (a) (5). Not attempted
(5) =9 FE < W@ '
100. 7 & > anificat 3 & 3 2020 i 100. Who among the following players from Haryana
E_'”‘"U” ':“:'I. fad fa :||ia.q|A fefa won Major Dhyan Chand Khel Ratna Award
T AT = A T TR St o1 ? 2020 ?
(1) faao wmme ¢1)  Vinesh Phogat
(2) #mufas E \A o\ﬂ')__\, (2)  Deepa Malik
(3) {9 FHN (3)  Sushil Kumar
(4) frirez f:l:r? ‘ (4)  Vijender Singh
(5) Fm - ?:ﬂ . (5)  Not attempted
»i0 0 s -00o0-
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